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Water supply Distribution system 

Flow in Pipes 

1. Darcy-weisbach equation 

ℎ𝐿 =
𝑓𝐿

𝑑
⋅

𝑣2

2𝑔
            

ℎ𝐿 = ℎ𝑒𝑎𝑑 𝑙𝑜𝑜𝑠𝑠 

f= resistance coefficient  

L= length of pipe 

D= diameter of pipe 

V= velocity in pipe 

g= gravitational acceleration 

 

2. Chezy’s formula   

𝑣2 =
8𝑔

𝑓
𝑅𝑠 

where   𝐶2 =
8 𝑔

𝑓
       ….C= chezy Coefficient  

𝑣2 = 𝐶2𝑅 𝑆   or 𝑣 = 𝐶√𝑅𝑆 

V= velocity in the pipe in m/sec 

R= the hydraulic Radius of the pipe in m  

𝑅 =
𝐴

𝜌
… 𝐴 (𝑎𝑟𝑒𝑎

𝜋

4
𝐷2) … . . 𝜌 = 𝑤𝑒𝑡𝑡𝑒𝑑 𝑝𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟(𝜋𝐷) 

            S= the hydraulic gradient  

 

3. Manning Formula 

𝑣 =
1

𝑛
𝑅

2
3 𝑆
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𝑛 = 𝑟𝑜𝑢𝑔ℎ𝑛𝑒𝑠𝑠 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡  
 

4. Hazen-William formula  

𝑣 = 𝑘𝐶𝑅0.63𝑆0⋅54 

C= a constant depending upon the relative roughness of the pipe (C=100 for old 

cast iron) 



 

 

K= is an experimental Coefficient and unit conservation equal to (0.849) SI units   

The hazen-Williams Diagram conducted for C=100 , however  

If we use Hazen-Williams Diagram for pipes with  𝐶 ≠ 100  𝑎𝑛𝑑   

𝑔𝑖𝑣𝑒𝑛 Q &D 

Find Sc=S100 (100/C)1.85 

𝑔𝑖𝑣𝑒𝑛 𝑄 & 𝑆 

Find Dc= D100(100/C)0.38 

𝑔𝑖𝑣𝑒𝑛 𝐷 & 𝑆 

Qc= Q100 * C/100 

 

Example : find maximum flow use Darcy, Chezy, Manning & Hazen-William 

Formulas 

hL=3.5 m, L= 200m, D= 317mm, C=150, f=0.0125, n=0.009 

solution: 

 Darcy-weisbach equation 

ℎ𝐿 =
𝑓𝐿

𝑑
⋅

𝑣2

2𝑔
            

3.5= 0.0125*200*v2 /2*9.81*0.317 

V=2.95 m/s 

Q=V*A=2.95*(π/4)*0.3172 =0.233m3/sec 

 

Chezy’s formula   

𝑣 = 𝐶√𝑅𝑆 

𝐶 = √
8∗9.81

0.0125
= 79.24 

R= 𝑅 =
𝐴

𝜌
=

𝑑

4
=

0.317

4
= 0.07925𝑚 



 

 

S=hL/L=3.5/200=0.0175 

𝑣 = 79.24√0.07925 ∗ 0.0175 = 2.95 𝑚/𝑠 

Q=2.95*0.3172 *π/4= 0.233 m3/s 

Manning Formula 

𝑣 =
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𝑛
𝑅
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𝑣 =
1

0.009
(

0 ⋅ 317

4
)

2
3

(
3.5

200
)

0⋅5

=
2.7𝑚

𝑠
 

Q=2.7*0.3172 *π/4=0.212/s 

Hazen-William formula  

𝑣 = 𝑘𝐶𝑅0.63𝑆0⋅54 

0.849 ∗ 150 ∗ (
0.317

4
)

0.63

∗ (
3.5

200
)

0.54

= 2.9
𝑚

𝑠
 

Q=2.9* 0.3172 *π/4= 0.228 m3/s 

 

Example: Consider a 200mm pipe 1500m in length which carries a flow of 2m3/min,  

find the velocity and head loss in pipe (C=100) use Hazen-Williams chart. 

Solution : 

Q= 2m3/ min=0.033m3/s 

From chart v=1.05m/s  , S=10*10-3 

متر  1000ل متر لك 10تساوي  أي ان فواقد الشحنة   

hl = 10*10-3 *1500=15m =150 kpa 

Example: for the previous example find head loss if C=120 

S120 =S100 *(100/120)1.85 =7.13*10-3 

hl =7.13*10-3 *1500=10.7m= 107 kpa 

( note : 10.19 m H2O =100 kpa) 
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Method of Water distribution  

1. Gravitational distribution  

تستخدم هذه الطريقة عندما يكون موقع المصدر المائي في مكان مرتفع بحيث يوفر ضغط كافي في 

 الانابيب الرئيسة للاستخدامات المختلفة والحريق. 

 

 

2. Direct pumping (pumping without storage) 

انابيب الشبكة ومن مساويء هذه الطريقة: من خلال هذه الطريقة يتم ضخ الماء مباشرة الى   

 اي انقطاع للتيار الكهربائي عن المضخات يؤدي الى انقطاع الماء عن الشبكة  •

الضغط في الشبكة يكون غير منتظم اذ يتغير مع تغير الاستهلاك لذا يتم وضع مضخات بسعات مختلفة  •

 تعمل تبعا لكمية الماء المسحوبة  

 لف السريع للانابيب والملحقات الاخرى تغير ضغط الماء يؤدي الى الت •



 

 

 
 

3. Pumping with storage  

في هذه الطريقة يتم ضخ الماء بواسطة  

المضخات ويخزن الماء الزائد خلال فترات 

الاستهلاك الواطئ في خزانات عالية، اذ يتم  

استغلاله في فترات الاستهلاك العالي 

والعجز لتعزيز الماء الذي يضخ بواسطة 

 المضخات 

 محاسن هذه الطريقة 

وتساعد هذه الطريقة على جعل  •

 معدلات الضخ منتظمة ،

تضرر الانابيب  كما يقل احتمال   •

وملحقاتها بسبب تغير الضغط في 

الشبكة حيث ان الضغط في الشبكة 

 سيكون منتظم تقريبا 

 الكهربائي عن المضخات.لأي طاريء مثل الحرائق وانقطاع التيار يمثل الماء في الخزان مدخرا  •



 

 

Patterns of water supply distribution system 

 

ماء من اهم هذه الاشكال اوالأنواع الرئيسة من هذه يوجد عدد من الاشكال التي تتخذها شبكة اسالة ال

 الاشكال 

1. Branching pattern with dead ends 

الاساسي والذي يتفرع الى الخطوط   هذا النظام او الشكل يشبه تفرعات الشجرة ويتكون من الخط

 الرئيسة ثم الخطوط الثانوية والتي تغذي المياه للابنية 

وفي هذه الشبكات يكون اتجاه جريان الماء في اتجاه واحد والماء يجهز للمنطقة بواسطة خط متفرد 

 هذه الطريقة    محاسنومن 

 طريقة بسيطة جدا لتوزيع الماء .1

 تصميم مثل هذه الشبكة سهل .2

 اكثر اقتصادية من الشبكات الاخرى  .3

 مساويء هذه الطريقة : 

 الميتة مما يؤدي الى تولد الروائح والطعم تجمع الترسبات في النهايات  .1

 حدوث كسر في احد اجزاء الشبكة يؤدي انقطاع الماء عن الاجزاء اللاحقة  .2

عدم تساوي توزيع الضغط في الشبكة او عدم كفاية الضغط عند ربط مناطق اضافية في   .3

 الشبكة 

 

 



 

 

2. Grid pattern  

في هذا النظام جميع الانابيب تكون مرتبطة  

بعض بشكل شبكة من كلتا  مع بعضها ال

والماء يصل لأي نقطة  نهايتي كل انبوب 

 في الشبكة من اكثر من اتجاه واحد 

 محاسن هذه الطريقة: 

الماء في منظومة الاسالة له حرية  .1

 الحركة من اكثر من اتجاه واحد 

 توزيع الضغط بانتظام خلال الشبكة .2

في حالة حدوث كسر في احد الانابيب   .3

 بقية الانابيب لاينقطع الماء عن  

 مساويء هذه الطريقة 

 تصميم هذه الشبكة اكثر تعقيدا .1

 الكلفة العالية نتيجة اطوال الانابيب والوصلات اللازمة .2

 

3. Grid pattern with loop 

 

لحلقات في هذا النظام لتوفير الضغط في المدينة لبعض المناطق المهمة يمكن توفير ا

فيها مثل صناعة معينة  

 او منطقة تجارية  
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Design of Sewer Systems

Sanitary Sewer Design Storm Sewer Design 





Sewer Networks System

• General Consideration

• Sewerage: refer to the collection, treatment and disposal of liquid waste

• Sewerage Works (or Sewage works): include all the physical structures required for
that collection treatment and disposal

• Sewage: is the liquid waste conveyed by sewer and may include domestic and industrial
discharges as well as the storm sewage , infiltration and inflow.

• Domestic (or Sanitary Sewage): is that which originates in the sanitary convenience of
dwellings, commercial or industrial facilities and institutions.

• Industrial Wastewater: includes the liquid discharges from industrial processes such as
manufacturing and food processing.

• Storm Sewage: is flow derived from rainfall events and deliberately introduced into
sewers intended for its conveyance

• Infiltration: is water which enters the sewers from the ground through leaks.

• Inflow: is water which enters the sewers from the surface during rainfall events through
flows in the system or through connections to roof or basement drains.

• A sewer: is a pipe or conduit generally closed but normally not flowing full for carrying
sewage.





Storm Sewer Design

Storm Water Flow

• Rainfall intensity ( i ): the rate at which rain falls over an area in mm/hr , or  in/hr

• Rainfall duration ( t ): the time in minutes at which rain falls at constant rate.

• Rainfall frequency ( T ): the period in years at which the storm happened again 

• Runoff: the water that runs off immediately to appears in streams during rainfall events upon 
catchment area.

Factors which affect runoff

• The topography of the drainage area, it 
is degree of roughness and slope, affects 
the time of concentration of the runoff 
and there by cause high or low runoff 
rates.

• Geology of the area including 
perviousness or imperviousness of the 
sub terrain and slope of the strata

• The slope and the characteristics of the 
drainage area.

• Solar radiation and it is variation on the 
watershed will affect evaporation.



Calculation of runoff (storm Sewage)

The rational method

Q=C i A

Q= actual amount of runoff (volume/time)

C= runoff coefficient, i.e, the fraction of the incident precipitation

which appear as surface flow. (unitless)

i= rainfall intensity (rainfall depth / time)

A= area





Example 13-2 Determine the runoff coefficient for an area of 0.2 km2, of which 3000 m2 is covered by buildings, 5000 m2 
by paved driveways and walks, and 2000 m2 by Portland cement streets. The remaining area is flat, heavy soil covered by 
grass. 
Solution: 
From Table 13-2, one may obtain values of C for each area: 
Roofs 0.70 to 0.95
Driveways and walks 0.75 to 0.85
Street 0.80 to 0.95
Lawn 0.13 to 0.17 

The fraction of the area with each surface is 
Roofs 3000/200,000 = 0.015 
Driveways and walks 5000/200,000 = 0.025 
Street 2000/200,000 = 0.010 
Lawn 190,000/200,000 = 0.95 

Cmin= 0.015* 0.70+ 0.025 *0.75+ 0.010*0.8+0.95*0.13=0.16

C max. = 0.015* 0.95 + 0.025 * 0.85 + 0.010* 0.95 +0.95* 0.17 =0.21

The average value of C, depending on the specific values chosen for the individual areas, will thus lie between 0.16 and 
0.21. 



Rainfall intensity (i) = f (t ) 

Time of concentration ( tc ) : the 
time required for the maximum  
runoff to develop. 




